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QUESTION 1

Refer to the error 

What is the most likely reason that vg01 activation failed? 

A. vg01 is already active on another node. 

B. The other cluster node is down 

C. vg01 is not marked for exclusive use 

D. The cluster is down 

Correct Answer: C 

 

QUESTION 2

You need to create a five node Serviceguard cluster. 

Which arbitration method must be selected for this configuration? 

A. Lock LUN 

B. Physical Disk 

C. Quorum Server 

D. Cluster Lock Disk 

Correct Answer: A 

 

 

QUESTION 3

Which HP-UX tool can be used to get detailed low level metrics of code running on Itanium processors? 

A. prospect 

B. caliper 

C. sar 

D. Isof 
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Correct Answer: A 

 

QUESTION 4

You want to start the SMH GUI from a web browser. You have tried using the unsecured (2301) and secured (2381)
ports, but neither will launch the SMH GUI. Which command shows if SMH is configured to start at boot time? 

A. smhconfig 

B. hpsmh 

C. smhstartconfig 

D. smh 

Correct Answer: C 

 

QUESTION 5

A customer manages several applications within a single OS and wants to define policies to manage the allocation of
CPU, memory, and disk bandwidth per application. 

What can the customer use? 

A. Virtual Machine Manager 

B. HP-UX Scheduler 

C. Global Workload Manager 

D. Process Resource Manager 

Correct Answer: B 

 

 

QUESTION 6

A system administrator is converting a legacy-style HP Serviceguard package to modular style The administrator has
modified the "customer-define\\': of the control script and these customizations need to be moved into an external script.
Which command will perform this task? 

A. cmmigratepkg 

B. cmquerycl 

C. cmgetconf 

D. cmmakepkg 

Correct Answer: D 
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QUESTION 7

A customer is moving to an Integrity platform but has legacy PA-RISC applications that cannot be recompiled on
Integrity. 

Which type of container can provide binary emulation environment for the customer\\'s applications? 

A. PA RISC Container 

B. System Container 

C. HP 9000 Container 

D. Workload Container 

Correct Answer: C 

 

 

QUESTION 8

A volume group is the sixth LVM2-2 volume group on a server The device tiles for the 3rd LV in this VG have
accidentally been deleted Previous VGs have been created with the default numbering scheme. When using the mkrnod
command string to recreate these fries, what would be the correct major/minor number pair? 

A. 64 0x050003 

B. 64 0x005003 

C. 128 0x050003 

D. 128 0x005003 

Correct Answer: D 

 

 

QUESTION 9

What are the customer benefits of the HP-UX Operating Environments (e.g. VSE-OE, HA-OE. DC-OE), as compared lo
ordering the same software separately? (Select three) 

A. Reduced purchasing cost for customer 

B. Reduced amount of codewords required to manage software 

C. Performance of HP applications tuned with the HP-UX OS 

D. Reduced amount of disk space used for OS and HP applications 
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E. Reduced new-system sales quote and configuration complexity 

F. reduced number of service contracts 

Correct Answer: ACF 

 

QUESTION 10

Your customer\\'s security policy does not allow them to use the root user for any application Select the correct order to
enable a non-root user for WBEM subscriptions. 

Hot Area: 

Hot Area: 
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Correct Answer: 
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QUESTION 11

Which methods allow you to install an Integrity server using an Ignite-UX server on a different subnet? (Select two) 

A. Use the dbprofileEFI command 

B. Use the ifconfigEFI command. 

C. Use the loadfile command 

D. Use a boot helper system 

E. Use the lanboot command 
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Correct Answer: BE 

 

QUESTION 12

Which statements about HP Serviceguard heartbeats are true? (Select two) 

A. Heartbeat packets are sent across all available LAN interfaces 

B. Heartbeat packets are the primary mechanism used by cluster nodes to communicate status information. 

C. Loss of even a single heartbeat message causes cluster reformation. 

D. A minimum of two heartbeat LAN interfaces are recommended in a cluster. 

E. Heartbeat packets are sent across dedicated heartbeat LAN interfaces 

Correct Answer: BE 

 

QUESTION 13

After adding the server named DGHOST1 as a cluster node, the system administrator runs the command cmviewc1 v
and sees this message: 

Access denied to quorum server 10.1.1.1 

Which steps will resolve this issue? (Select two.) 

A. Add DGHOST1 to the file /etc/cmcluster/qs_authfile on the quorum server 

B. Add the quorum server name to the file /etc/cmcluster/cmclnodelist on DGHOST1 

C. Run csshsetup -r DGHOST1 on the quorum server 

D. Set the QS_ TIMEOUT_ EXTENSION variable to increase timeout 

E. RunUsr/lbin./qs -update on the quorum server 

Correct Answer: BD 

 

QUESTION 14

A company is migrating three applications currently running on three separate HP-UX Integrity servers. The plan is to
migrate them into a Superdome 2 Serv. three applications are business critical, and the main focus is the uptime, as any
interruptions cause financial losses. 

Which HP-UX virtualization technology provides the best solution? 

A. Create a single nPar. 

B. Create three nPars. 
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C. Create three vPars 

D. Create three Integrity Virtual Machines 

Correct Answer: C 

 

QUESTION 15

Which statement about auditing Standard Mode Security Extensions (SMSE) is correct? 

A. SMSE uses an external daemon to maintain the audit logs. 

B. SMSE Audit log files can be read by the users of the SMSE-Administrator Group "smeadm". 

C. SMSE auditing is available on HP-UX 11i v1, HP-UX 11i v2, and HP-UX lit v3. 

D. SMSE auditing is compatible with NIS and LDAP. 

Correct Answer: C 
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